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Some Relevant Form

Llae, Constants and Identities

Speed of Light, ¢ = 3.0 x 10°m/s

1
v =
Jv1—v2/ec
) ,
X' =(y(x — vt)
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Pl. write you answer in a B
your code number is prq

lue book in indelible ink. Make sure
pminently displayed on each page
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Problem 1: Doppler Radar
If a police radar transmitter 1
frequency shift observed by |
from the police car at (a) 115
measurement precision in fre

between the two cars? State |

Problem 2: Space talk [12 pt

A observer on the Earth sees
(a) An astronaut on the rockg
the Earth. She measures the
What is the speed of the escd
the Earth? (b) An observer o
to be 100 m long. What is th
is the length of the rocket as

[8 pts]

adiates at 10.0GHz, calculate the
[

he police for a car traveling away
km/hr and (b) 130 km/hr (c) what
quency is required to distinguish

your answer as a fraction %.

s]

a rocket go by at a speed of v=0.6c.

't sends an escape pod back towards
ipeed of the escape pod to be u=0.9c.
pe pod as measured by an observer on
h the escape pod measures the rocket

> proper length of the rocket? (¢c) What
measured by an observer on Earth ?
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